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1. Plague is a disease caused by
(A) Mosquito
(B) Rats
(C) Bats
(D) Birds

2. “Anandamath” was written by
(A) Bankim Chandra Chatterjce
(B) Sarat Chandra Chatterjee
(O Rabindranath Tagore
(D) Rashbehari Bose

3. The First Speaker of the India Constituent
Assembly had been

(A) G. H, Deshmukh
- (B) Hukum Singh

(C) Swaran Singh

(D) G. V. Mavalankar

4. Two pipes A and B can fill a taik in
15 minutes and 20 minutes respectively. Both the
pipes are open together. But after 4 minutes pipe
A is turned off. What is the total time required to
fill the tank?
(A) 10 min, 40 sec.
(B) 11 min. 45 sec.
(C) 12 min. 30 sec.
(D) 14 min. 40 sec.

5. Rajuand Param startajourney. Raju moves '

northwards at a speed of 20 km/hr and Param
moves southwards at a speed of 30 km/hr. How far
will be Param from Raju after 60 minutes?

(A) 24 km
(B) 50 km
(C) 42km
(D) 30km

N
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. (2ol TR = T 7=
(A) =
(B) Fa
(C) AT
D) iR

TS~ (FT~E I
(A) IFeTom BB

(B) W% BLEIATH

(C) T ST

(D) FFIf=IA 27,

3. SRS MRS 24 GG B
(A) & 925, oy
B) T Fr
(C) 34 fisz
(D) f&. fS. Trerma

4. 6 A2 A 93R B 96 o1 7A@ 15 G
432 20 TG ©fF 3 21 | Tey #ii3e g

'mmlﬁg4ﬁﬁ%vﬁAwﬁﬁ%W¢m® kA

S 200 FO T AN ?
(A) 10 T390 40 Giies
B) 11 ff 6 45 crwe
(C) 125 30 Gl
(D) 14 T¥5 40 cre

5. A 6 AW YAl oF 91 | A5 20 BHi/T51
(R0 &eq Wi 93R “Aaw 30 [36f5/9961 carst e faces
TN | 60 D 45 A1 (TS 23 T Tt A 2

(A) 24 Bfw
(B) 50 &
(C) 42 &/
(D) 30 =R



6. The average of 50 numbers is 28. If two
numbers, namely 25 and 35 are discarded, then the
average of the remaining numbers is nearly

(A) 2729
(B) 27-92
(C) 2927
(D) 29-72

7. If Rs. 1,000 becomes Rs. 1,400.in 4 years,
then find the rate of interest.

(A) 10%
(B) 5%
(©) 15%
(D) 25%

8. The First Woman Ruler to sit on the throne
of Delhi had been

(A) Abeda
(B) Zubeida
(C) Rokeya
(D) Razia

9. The Chief Justice of the Supreme Court of
India is appointed by the

(A) Prime Minister of India -
(B) President of India

(C) Vice-President of India
(D) Lok Sabha '

10. Two numbers are in the ratio 3 : 5. If each

number is increased by 10, the ratio becomes 5: 7.
The numbers are

(A) 3,5
B) 7,9
(C) 13,22
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6. 50 6 se4pia <1@ 28 | T 4o P!, @A 25

@R 35 A (8T TW, OIFE WG AR o
(shim) Te 7

(A) 2729
B) 27-92
(C) 2927
(D) 2972

7. ¥ TS oIt YW 4 I 1,000 BrA
1,400 51t 3¢

(A) 10%
(B) 5%
©) 15%
(D) 25%

8. =% Wizt =ivie R fafea Ficse sem—
(A) i
(B) Al
(C) Gl
(D) =iferm

L

9. S AR AR ek Rotefe Fe
P

(A) S0 g
(B) ©rod ga©
(C) S BAAReIS
(D) Gt

10, {5 YA St 3 : 51 3 Al FAiew 10
TRt 3 U T, IR St 5 ; 7 TR | TRl 2=
(A) 3,5
(B) 7,9
(€) 13,22 -
(D) 15,25

(D) 15,25
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11) Pragyan is associated with
(A) Missile Technology
(B) Space Research
(C) Oceanography
(D) Climate

12. A, B and Cinvested Rs, 26,000, Rs. 34,000
and Rs. 10,000 respectively in a business. At the
end of the year, they earn a profit of Rs. 3,500,
B’s share of profit is

(A) Rs. 1,200
B) Rs. 1,500
(C) Rs. 1,700
(D) Rs. 1,900

* 13. Polio is caused by
‘ (A) Bacteriq
(B) Virus
(C) Anti-biotic S
(D) Medicine N\

pu—y
[—y

14. Find the L.C.M. of %

\o]oo
—
S

(A) 280
(B) 360
(C) 440
(D) 420

is
(A) Australia
(B) Canada
(C) Brazil
(D) India

15. ThePrcsidentoftfxeG-ZOGroupofcountrics

A-4

11. ‘g9 AiF @ AR Rews s
q@_
(A) CFoiY afe
@) = Ream
(©) g R
(D) wi=gied

[
12. 3TN A, B G CIUBP 26,0005,

34,000 51t @3R 10,000 Brnt RfFzast e | =ag
mwssoo%‘mm@mmmwwww‘

(A) 1,200 5
(B)> 1,500 Bt
(C) 1,700 Siset
D) 1,900

13. ‘¢olifere catei-a3 rad T
(A) T
(B) ©IgaM
(C) =pifS-aces
(D) €3y

58 11
315 g S A, dfa =t

(A) 280
(B) 360
(C) 440
(D) 420

14,

15. G-20 CBigE G Teiwfe 5%
(A) S

- (B) TS
(€) A=
(D) ©fe



16. By selling 100 pencils, a shopkeeper gains
the selling price of 20 pencils. His gain per cent is

(A) 25%
(B) 20%
(C) 15%
(D) 12%

17 A boat covers a distance of 30 km in
2— hours running downstream. Wh1le returning,
it covers the same distance in 3— hours. What is

the speed of the boat in still water?
(A) 8 km/hr
(B) 12 km/hr
(C) 15 km/hr
(D) None of the above

18. The authorof “The Story of My Experiments
with Truth” had been

(A) Netaji Subhas Chandra Bose
(B) Gopal Krishna Gokhale

(C) Mahatma Gandhi

(D) Aurobindo Ghosh

19. Who was known as Alamgir?
(A) Shah Jahan
(B) Jahangir
(C) Aurangzeb
(D) Akbar

20. Incomes of A, B and C are in the ratio
7 :9:12 and their expenditures are in the ratio
8:9: 15.IfA’ssavingis % of his income, then the
ratio of savings of A, B and Cis
(A) 56:99:69
(B) 99:56:69
(C) 69:56:99
(D) 99:69: 56
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16. 1007 c=ifSmt & v «Fem @i 200
. (oA Rfdra Sp oire 0 | O Ficed XIoie 2
(A) 25%
B) 20%
© 15%
D) 12%

17. mwaﬁ@W2 a@wsoﬁsﬁ
Wwﬁwmlmﬁmuﬂﬁm 3— LR
WW|%WWW61W?

(A) 8 /e
(B) 12 f&hi/<Bt
(C) 15 ffat/=st
(D) TR @GR 7

18. ‘“The Story of My Experiments with Truth”
SCEN GRS BEIGT

(A) OIfE JerpE 37
(B) CtilleT 538 (TS
(©) TR AR
(D) waf= (@R

19. SEAE el & oififoe Eme
(A) I TR
(B) =R
(C) STHEA
(D) S

20. A, B @R C-9F WG SIS 7:9: 12
IR ST A SIS 8 = 9 : 1517 A i e
% O SN T, O 4, B IR C~a7 A
THAE TS ?

(A) 56:99:69
(B) 99:56:69
(C) 69:56:99
(D) 99:69: 56
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21, There are three full containers of mixture of
milk and water and their volumes are in the ratio
7:5:13. The milk and water ratio in these
containersis2 : 3,47 : 53 and 9 : 11 respectively.
If these are mixed together, find the ratio of milk
and water in the new mixture,

(A) 11: 14
(B) 14:17
© 9:16
D) 12:13

22. The First Vice-President of Independent
India had been

(A) C.Rajagopalachari

(B) Dr. Zakir Hussain

(C) Dr. S. Radhakrishnan

(D) Maulana Abul Kalam Azad

a 7
23. Ifg—g’

(A) 7:9:15
B) 7:9:5

L (©) 21:35:45
D) 7:3:15

,thenthevalueofa: b: cis

oo
Lhlw

24. Who said, “Swaraj is my birthright™?
(A) Gandhi
(B) Nehru
(C) Tilak
(D) Gokhale

25. fa:rb=3:5andb:c=7:8, then
2a:3b:7cisequal to
(A) 42:105:280
B) 15:21:40 -
(C) 6:15:40
(D) 30:21:350

A-6

21. 749 TR e Fomib ool ot g @<
SITTE SIS SFAIS 7 2 5 : 13 1 92 Awafens 7y
TR G S PANS AAGFT 2 1 3,47 : 53939 : 11
qafe a3y e e wgw e 54 e weg
weite el et |

(A) 11:14
(B) 14:17
(€ 9:16
D) 12:13

22. TR OI0ea A Sogeife R
(A) B aEeisecR
(B) G, WiFAREH
(C) ©. &% AR
(D) G SIIgeT eI wIrem

23, —=— —=% ¥, a:b:c- g VI T9?

"(A) 7:9:15
B) 7:9:5
(C) 21:35:45
(D) 7:3:15

24, “FIE R TrATS SR 3 SR P 2
(A) R
(B) ize
(C) Toorm
(D) MR

25. Wa:b=3:59Rb:c=7:8 T, OgH
2a:3b:T7c TS EYI?
(A) 42:105:280
(B) 15:21:40
(C) 6:15:40
(D) 30:21:350
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26. Sushil was thrice as old as Snehal 6 years
back. Sushil will be % times as old as: Snehal

6 years hence. How old is Snehal now?
© (A) 12 years
(B) 15 years
(C) 18 years
(D) 24 years

27 The compound interest on Rs. 20,480 at

6 % per annum for 2 years and 73 days is

(A) Rs. 3,000
(B) Rs. 3,131
(C) Rs. 2,929
(D) Rs. 3,636

28. If7:x=175: 225, then the value of x is
(A) 6
(B) 8
C 12
D) 9

29. Dr. Meghnad Saha was a famous
(A) Mathematician )
(B) Physicist
(C) Chemist
§9)] Dos:tor

,then whaf is the value of x?

@
® %

13
©) 7 ,

® 7
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26, 6 TR THTPNCETE T8 G TETE 394
i1 6 T8 47 PN T GRIETE IO % ad
A | (RIETR IO I3 92 '

(A) 12323
(B) 15 <=
(©) 183
(D) 24 I%K

27 20,480 BT Bet7 2 3% 73 e A
6 %mmf‘ﬂ:ﬁﬂ
(A) 3,000 5
(B) 3,131 Biwt
(C)'2,929 Tt
(D). 3,636 51

28. M7 : x=17-5: 225, OA x- AT FO?
. (A) 6
(B) 8

©) 12
(D) 9

29, G2 (T A fRrEm 9w &S
(A) siffes
B) ~widRw
(C) TR
(D) UK

30. W 2=x%+ : T, O x-4F TN FO7

1+..3+_l

R "4
18

A) 7

21

© 35

12
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31. A man walks 1 km on st day, 2 km on 2nd

day, 3 km on 3rd day and so on. The total distance
the man covers in 10 days is

(A) 40 km
(B) 50 km
(C) 55km
@) 58 km

32. ‘Sasanka was the King of
(A) South India
@) Gujarat
(C) Gaur
(D) Malbhum

33. Find the value of:

(243)% x 320+l
(A) 9

(B) 3*

(©) 3

(D) 27

34. A and B can do a piece of work.in 12 days;
B and C can do it in 15 days; C and/A cando it in
20 days. A alone can do the work in

(A) 15% days

(B) 24 days
(C) 30 days
(D) 40 days

35. Pisfasterthan Q.Pand Q each walk 24 km.
The sum of their speeds is 7 km/hr and the sum of
times taken by them is 14 hours. Then P’s speed is
equal to T

(A) 3 km/hr
(B) 4 km/hr
(© 5 kmv/hr
(D) 6 kmvhr

A-8

31. g TR 2w o 1 B, R e 2 R,
wor firee 3 Refit 2o 365 1 e 10 Fim il e
Y SfeT T2

(A) 40 T3R

(B) 50 ™

(C) 55 R

(D) 58 BB )
32, =M% (O SLET 1 e Gifb e

(A) 7F SiFe

(B) weis

(C) ¢

(D)’ ATy

. 33, W el A
(243)% x 32041
(A) 9
(B) 3
(C) -l
D) 27

34. A 93 B 9F6 i 12 e 3909 #iie; B ¥e
C 15 G; C @R A 20 e T0s A | A 1 €3
GG FACS TR

(A) 15% =

(B) 24 =t
(C) 30 =
(D) 40 fe

35. P, Q99 5 WS W P @2 Q Tewz
24 i 2 | it sifew caetwer 7 Bfy/aest wae
Ol (TSN I I 14 951 | SIRe] P-a< 4ife
T 9

(A) 3 FRy/ast
(B) 4 ffi/a%t
(C) 5 Tfsi/oe%r
D) 6 Rfi/a%r

by
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36, Acharya Jagadish Chandra Bose was a 36. it Gol 5 <7 Feree e RRTe:
f@ous(A) y (A) ST . -
inger
° ®) 7R

(B) Poet

(C) Scientist © Rer ,
(D) Politician (D) FRATSS GFol

37. The average of 15 numbers is 7. Out of °
them the average of first 8 numbers'is 65 and the
average of last 8 numbers is 9-5. The middle
number is

(A) 21
(B) 22
(C) 23
(D) 24

38. The First Battle of Tarain took place in
(A) 1192 AD.
(B) 1191 A.D.
(C) 1205 AD.

(D) 1206 A.D. ‘ '

39, The Akbar Namah was written by
(A) Abdul Hamid
(B) Faizi
(C) Abul Fazl
(D) Firoz Shah Tuglaq

40, Plants manufacture food through |
(A) Photosynthesis |
(B) Respiration
(C) Transpiration
(D) Evaporation

37, 15 BRI T 7 |G AN § B AT
5T 65 42, 018 § T3 T 18 9-5 | M= FRAB 2=
(A) 21

(B) 22
(C) 23
D) 24

38, GRIRA-GF AL JCRT A
(A) 1192

®B) 1191
(C) 1205
(D) 1206 '

39, e AT oS! B
L W) arE R
B) T
(C) =gHA T
(D) e« g=e

LR P |

1 -
PR T A T N

41—).?11@?1 mﬁr«%vmmﬁﬁﬁﬂ@ ARrE -
(A) FEFRER
(B) Sfewa

Please Turn Over
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41. The Aihole Prasasti is associated with 41. wiiRze @ T bic
(A) Samudragupta (A) TEeY
(B) Vishnugupta ) ®) Reey
(C) Pulekeshin IT : © Fom AT
(D) Rajendra Chola )
) (D). FItEE (Bl
42. Water is composed of 42, T~ @ 4 IFTEET Giie Sie—
(A) Hydrogen and Ozone ' (A) QRTGIEA 93 G
(B) Hydrogen and Oxygen (B) Z2CTIER 9 SRIE ‘ S
((1():; (1\31:; vine a"f: (())xygen (C) TRGGitem 93: wfdem
orine and Oxygen
ve (D) @R Slnew :

43. Which one among the following is the 43, R wtefm g @ [wE are! ¢
largest?

6
6 A) =
4 = ;"
5 B) =
® 3 e
7 O <
© ! (©) 2
(D) % (D) 3
44. The difference between compound and 4. 3 IR O 5% AR Y@ 8,000 B
simple interest on Rs. 8,000 at 5% p.a. for 3 yearsis Wﬁﬁﬁgq\wwmq] 9”2]’3;‘]?{?[
(A) Rs.50 A : (A) 505
(B) Rs. 60 , (B) 60 Brpt
(© Rs.61 (©) 61%m
(D) Rs. 600 Y (D) GOOW
45. Paradeep portis locatedin - - . 45, SIiFRI% IWT @I SRfFe— p
(A) Lakshadweep e (A) G
(B) West Bengal - o (B) =Rswas
(C) Odisha - 7 (©) <R

(D) Tamilnadu.

(D) ifiETig



46. The Indian National Congress was founded

in the year
(A) 1883
(B) 1884
(C) 1885
(D) 1886

47. BRICS relates to
(A) Group of Countries
(B) Chambers of Commerce
(C) Political Parties '
(D) NGO

48. Find the value of:
1 1 1 1

x2 23 3xa T oxio

@)
® -
O 1

(D) 10

49. A bus travels first half distance between
two places with a speed of 40 km/hr and the
rest half distance with a speed of 60 km/hr. The

average speed of the bus is
(A) 42 km/hr
(B) 50 km/hr
(C) 46 ki/hr

(D) 48 kmv/hr -

50. Ram and Shyam together can finish a job
in 8 days. Ram can do the same job on his own in
12 days. How long will Shyam take to do the job

by himself?
(A) 16 days
(B) 20 days
(C) 24 days
(D) 30 days

A-11
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46. SIATST GO AT A T @ AE—
(A) 1883
(B) 1884
(C) 1885
(D) 1886

47. BRICS =&
(A) TR CId)
(B) FF g
(C) AT WA
(D) IR

48. WA 7T @
1 4 1 1

%2 2x3 T 3xa v T oxi0

(A)

e S|~

®)
©
(D) 10

P
[=]

49. < T A TEAN MY AL ST 77

40 e/t sifSre waR A ST e 60 [FR/aH
sifere o $0 | AT 4T A 72

‘(A) 42 Ref/=si
(B) 50 =Ffi/ a5l
(C) 46 Rfy/asl
(D) 48 fFi/a<st

50, TS * @ § i G Fw R FE0S

AeE 12 e 9% uFR e 12 Tt T40s And 1<
e ST Fare Fomd ATT FE?

(A) 16 fa=
(B) 20f=
(C) 24 =
(D) 30 =
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51. The Battle of Plassey was fought between
(A) Mir Qasim and Mir Jafar

(B) Siraj-ud-Daulah and the English East
India Company

(C) Mir Jafar and the French
(D) Shah Alam and the English

52. Apipe can fill a tank in x hours and another
pipe can empty it in y (y > x) hours. If both the

pipes are open, in how many hours will the tank be
filled?

(A) (x-y)hours
@B) (v~ ) hours
© ==

x=y
(D)

hours

Y—x hours

53. The ages of Samir and Tanujavare insthe
ratio 8: 15. After 9 years the ratio of their ages will
be 11 : 18. What is the difference between their
ages?

(A) 20 years
(B) 21 years
(C) 24 years
(D) 33 years -

54. The speed of a car increases by 2 km after
every one hour. If the distance travelling in the first
one hour was 35 km, what was the total distance
travelled in 12 hours?

(A) 456 km
(B) 482 km
(C) 552 km
(D) 556 km

A-12

51. ~=1E 3TEe T effowa fegew
(A) Tg ifmw e g o
(B) Frae-8v-(iwl ¢ e o5, 3w
- @A !
(©) 7 T e T
(D) *iIZ STy 8 3ES

52, <5 #1125 x 91N G0 BIE {99 TS ST
G T y (y > x) WO «ff 41 Fa00 A | TR
o ~AIRe G I AT, Tiiel e 1o offf
AL

(A) (o= y)TW
(B) (y—x) <%

(Oh=5 =

xy
. 51

D)

53, A5 8 SEId IACTH TS 82 1519 T2
A9 S TR A FR 11 : 18 | St T0EH
A1 T2

(A) 20327
(B) 21 q=
(C) 24 3=
(D) 3337

54, =S qT 761 o5 a3 oMifEm 51 2 Reerfos
AT T AT G VR TNEAF 1A 99 35 B,
12 Y51 (NG Ao E 7y F© fozie

(A) 456 &
(B) 482 R
(C) 552 [
(D) 556 &
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55, The Sepoy Revolt initially broke out in 55. Pt Roaies @ 29w P E—

(A) Kanpur _ | (A) TR
(B) Barrackpore

: (®) IR
(C) Chitpore © ﬁﬁ’,[;'{
(D) Mirpur '
(D) Fe
56. What is the interest of Rs, 300 at the rate of 56. 300 BiE 11% QR 5 IET M FG?
11% for 5 years? (A) 150 Bt
(A) Rs. 150 (B) 165 Bt
(B) Rs. 165 | C) 120wt
(C) Rs. 120 . ‘ - ©
(D) Rs. 200 (D) 200 Br
57. Fahien had visited India during the reign of - 57. T REw 19 ATEiE SEre WTGFF[—
(A) Harshavardhan (A) THa4q
(B) Yasovarman - (B) qeeat
(C) Chandragupta Maurya ©) vmed G

D) Chandragupta II Vikramaditya
®) sup . (D) faom verad fAerifneg

58. The Panchayati Raj system was introduced 58. WWWW@%@H@W
in India by one of the following amendments: RS el {0 S
(A) 72nd ' (A) 7299
(B) 73rd ®B) 735%
(C) 70th : '
) 7lst : (C). 700e9
- (D) 7199
59, Ali travels a distance of 300m in 2 minutes 59, <=1 2 $iFG 30 s 300 ﬁ"ﬁﬁmwﬁzﬁr
and 30 seconds. What is hls speed in km/hr? (7 | /9% ©F sferas Fo?
(A) 69 (A) 69
®) 71 - ®B) 71
©) 72 € 72
(D) 73 ° (D) 7-3

Please Turn Over



AMRI/22

60. Thedistance from the town A tothe townB
is 5 miles, C is 6 miles from B. Which of the
following could be the maximum distance from

AtoC? " :

(A) 11 miles
(B) 8 miles
{C) 2 miles
(D) 4 miles

61. Whichofthe following numbersis divisible
by 3?

(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

62. Vitamin C is present in
(A) Neem
(B) Lemon
(C) Milk
(D} Carrot

63. Bats navigate in the dark using
(A) Eyes
(B) Nose
(C) Echo
(D) Smell

64. The sum of the squares of two positive
integers is 100 and the difference of their squares
is 28. The sum of the numbers is

(A) 12
B) 13
(©) 14
(D) 15

A-14

60. *ZF A (UF B-93F THG 5 T2 9R B (AT
C~q9 % 6 2% | NG FAG A (LEE Caz vy
VEY S AN ?

(A) 11 3%
(B) 8wiE=
(©) 2 Wi
(D) 4w

61. FHa @ AT 3 7 Ko ?
(A) 24357806
(B) 35769812
(C) 3336433
(D) 83479560

62/ TSBItM C @ 3wy 2fsal TE—
(a) e
(B) ASET
(GRS
(D) [ieE

63. TS ACT AT 0 T Y —
(A) ®4
(B) =%
(C) afswf
(D) =

64. 7w SIS AR @R 100 @R
st q0efF ANag 28 | 120 16w qisiTs T
(A) 12
(B) 13
(©) 14
(D) 15




65. India became a Republic in
(A) 1951
(B) 1949
(C) 1950
(D) 1948

66. The Constitution of India was adopted on

(A) 25 November 1945
(B) 26 November 1949
(C) 26 January 1950
(D) 15 August 1947

67. The Speaker of the Rajya Sabha is
(A) Prime Minister of India
(B) Vice-President of India
(C) Chief Justice of the High Couft
(D) President of India '

68. Cornea is present in the
(A) Ear
(B) Eye
{(C) Nose
(D) Stomach

69. Cactus is found in the
(A) Polar Regions
(B) Desert
(C) Moon
(D) Ocean
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65. SO 2oy Y A (e =
. (A) 1951 '
_(B) 1949
(C) 1950
(D) 1948

66. ST FRY @ A R T
(A) 25 ST 1945
(B) 26 7SHH 1949

(C) 26 WA 1950

(D) 15 515175 1947

67. ey A SNYHF T
(A) ©RTS AwE
(B) ST CHIARS
(C) 2R MHa 2y Roeis
(D) ©iareg TjAfS

68. T oTE @ e ST —
(A) 9
B) G
(C) «iw
. (D) #irwgat

69, FIFOIT-GF (ST o=
(A) G S

(B) g
(C) B

(D) Fg
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70. Carrots are rich int
(A) Vitamin B
(B) Vitamin C
(C). Vitamin A
(D) Vitamin D

71. The First Battle of Panipat tock place in
(A) 1521
(B) 1523
(C) 1525
(D) 1526

72. The average of m numbers is n* and

the average of n numbers is m*. The average of
(m + n) numbers is

(A) mn

(B) m*+ n?

(C) mn (m*+nd

(D) mn (m*+ n*—mn)

73. The human body consists of
(A) 205 bones )

(B) 206 bones

(C) 204 bones

" (D) 203 bones

74. The Chemical name for common salt is
(A) Sodium Fluoride
(B) Sodium Chloride .
(C) Potassium Cyanide
(D) Potash '

70. s (3 Fobife wdiq FE—
(A) fobism B
(B) Fwif C
() 5w A
(D) fooifm D

71, HiRsiTaT A4S T W0 =W @ A

(A) 1521
B) 1523
(©) 1525
(D) 1526

72, m SRR 5T T it G4 n R 6 T m |

(mn + ) TRAE TC F9?
(A) mn
(B) m+ r?
(C) mn (m*+n?)
(D)..mn (m*+ n*— mn)

73. AR (0, SRR AN =
(A) 205
(B) 206
(©) 204
(D) 203

74. FLIR TR IONAEF A9 T




75. Minamata Disease is due to
(A) Sulphur
(B) Nitrogen
(C) Mercury
(D) Potassium

76. If Manish walks 20 km/hr faster, then he
will save one hour to travel a distance 600 km.
What is the usual speed of Manish?

(A) 100 km/hr
(B) 120 km/hr
(C) 150 km/hr
(D) 160 km/hr

77. If the side of a square is increased by 30%,
then its area is increased by
(A) 9%
(B) 30%
(C) 60%
(D) 69%

78. The sumof twonumbersis 2490.If6-5% of .

one number is equal to 8:5% of the other, then the
greater number is

(A) 1079
(B) 1380
(©) 1411
(D) 1250

79. The ratio of two numbers is 3 : 4 and their
sum is 420, The greater of the two numbers is

(A) 175 '
(B) 200
(C) 240
(D) 315
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75. fSmist G@resta e 2=
(A) AETwig
(B) REIEH
(C) W
(D) i

76. W Tt 20 [F/S we SHoren winE
fofit 600 femifiior 7w Te 1 961 311w Fotren |
TN FreR oS Te?

(A) 100 fE/=%1
(B). 120 /3f/%%]
(C) 150 fhi/=5!
(D) 160 /a6t

77,3 @9 qofwram a= 30% 9 T @,
SR 9 (FaF o e g2
(A) 9%
(B) 30%
(C) 60%
(D) 69%

78. o T T 251 2490 13 @i AT
6:5% SBToF 8-5%-4% T 27, SIawe J2GH 1B
= _

(A) 1079
(B) 1380
(C) 1411
(D) 1250

79. B IRYE A 3 : 4 G2 O Q@NT
420 1 A1 1o ST et FeA z=
(A)-175
(B) 200
(C) 240
(D) 315
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80. The leader of the Kaivartya Revolt was
(A) Puru
(B) Divya
(C) Arjun
(D) Harsha

81. Anita can cover a certain distance in
1 hr. 24 min. by covering % of the distance at
4 km/hr. and the rest at 5 km/hr. Find the total
distance.
(A} 4km
(B) 5km
(C) 6km
D) 7km

82. World Environment Day is observed on
(A) June 4
(B) June 5
(C) April4
(D) April 5

83. The respective ratio among the'Speed of a
bike, a van and a lorry is 3 : 5 : 2. The speed of the
van is 250% of the speed of the lorry which covers
360 km in 12 hours. What is the average speed of
the bike and the van together?

(A) 60 km/hr
(B) 62 km/hr
(C) 64 km/hr
(D) 63 km/hr

84. Onselling an article atacertain price,aman
gains 10%. On selling the same article at double
the price, gain per cent is

(A) 20%

(B) 100%
(©) 120%
(D) 140%
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80, (39S RTaEg GToid
(A) 4
B) 7w
(C) =g
D) =&

81. el g3 RS 7Ry 1 951 24 ff~E T
BIE % o A 4 R/ @ 93 A =
5 TR/ 701 (FUe S I | (G 799 F97?

(A) 43
B) 5=
(C) 6 B
(D) 7&&

82. pd ATt i +Aifere = @ fae—
(A) gr 4
B) g5
(C) «fe 4
(D) «fg=r 5

83. 5 1%, WD TN IR D oA ofed
TS 31 5: 2 I SR SIS =t oifod 250 *oiRe
0 12 951 360 Bl o 07 | 9139 8 ST o1%
5ifS «Pra TO ?

(A) 60 Rf/a!
(B) 62 f&fi/a%!
(C) 64 RR/THI
(D) 63 Bf/al

84. o3l e v o3 B [iF wae
G TE 10% 7S FE | @32 i fagd s
R Faa oo <o oie 3¢

(A) 20%
(B) 100%
(©) 120%
(D) 140%
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85. The average of 6 observations is 45.5. If
one new observation is added to the previous
observations, then the new average becomes 47,
The new observation is

(A) 58
(B) 56
(©) 50
(D) 46

86. Raniganj is famous for one of the following
minerals:

(A) Iron
(B) Mica
(C) Coal
(D) Diamond

87. One of the following is résponsible’for
Global Warming:

(A) Nitric oxide-
(B) Carbon dioxide
(C) Sulphuric Acid
(D) Nitric Acid

88. Which one among the following is the
largest? .

@) 2 \
(B)
©)

D) =7

AMRIZZ

85. 6 & *rfwmam v = 45-51 W <4
AL X B TG AT @ T G,
SR TG AT A 47 | TGN R 2

(A) 58
(B) 56
(C) 50
(D) 46

86. xffRe e snie'H Moy sireat T
Ay =R
(B) 5=
(C) FF=
@) A

87. m%mmawﬁﬁﬁﬁ@wmﬁamﬁt
(A) TG wwiTs
. (B) 34 SlRemize
(C) ARTESRw e
(D) 7RG it

1)

88. ﬁﬁﬁﬁwﬁammﬁmw?
A 7
®) %
© 3
10 -

D) 7
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89. Twovessels are filled with mixtures of milk
and water in the ratio 3 : 2 and 6 : 5 respectively.
In what ratio should these mixtures be mixed so
that the ratio of milk and water in the final mixture
becomes 4 : 37

(A) 6:13
(B) 9: 14
(© 10:11
D) 5:8

90, AcharyaPrafullaChandraRoy was afamous
(A} Doctor
(B) Chemist
(C) Physicist
(D) Mathematician

91. Darjeeling district is famous for
(A) Coffee
(B) Cocoa
\ (C) Tea
(D) Sugar

92. Akash leaves Mumbai at 6 am and reaches
Bangalore at 10 am. Prakash leaves Bangalore at
8 am and reaches Mumbai at 11.30 am. At what
time do they cross each other?

(A) 10am

(B) 832 am
(C) 8.56 am
(D) 9.20 am

93. Doctor’s Day is celebrated on
(A) July 2
(B) July 1
(C) Junc 4
(D) June 5

89, 7b Sifa I 3: 2 GR 6: 5 TGATS 74
G TR TR SR IR | Gt SIS <2 Rreieafer
e T Ton W 94 Q32 TE Selle o1
4:3%

(A) 6:13
(B) 9:14
(©) 10: 11
(D) 5:8

o

90. G &TE v& AN farm «Iem Rie
(A) Ol
(B) TR
(C), #mieffEm
(D) e

s

91. MEFR Caell AR oy f{e—
(A) o
(B) (ICH
() B
(D) BF

© 92, S IR 6B TRIB, (ATF NS A A
1051 TRFITECE ¢TI | 2 ST5i o1 I
(T Aew 2@ H 11.30 G mR el | R

TR O AT A G FAC ?

(A) 10 am

(B) 8.32 am
(C) 8.56 am
(D) 9.20 am

93, i M tiee =@
(A) TR 2
(B) TR 1
(C) g7 4
D) T 5



94. Milk is a rich source of
(A) Vitamin C

© (B) Calcium
(C) Potash
(D) Carbide

95. A 130 m long train crosses a bridge in
30 seconds at 45 km/hr. The length of the bridge is
(A) 200m
(B) 225m
(C) 245m
(D) 250 m

96. 5% income of A is equal to 15% income of

B and 10% income of B is equal to the 20% income
of C. If the income of C is Rs. 2,000, what is the
total income of A, B and C?

(A) Rs. 14,000

(B) Rs. 16,000

(C) Rs. 18,000

(D) Rs. 1,24,000

97. Blood has one of the following groups:
A M

(B) N
© o

(D) P

98. The ratio of cost price and selling price of
an article is 20 : 21. What is the profit per cent on
it?

(A) 5%
(B) 55%
©) 6%
(D) 6:25%
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94. 74 FaRe Impart Aga—
(A) f&Bifm C
(B) w@Ra
(C) opt
(D) 3ifzE

95, «of6 130 v FY G 2% ¥ 45 B
G0t 30 GRS D (T Wit 33 | ergfba trd
=

(A) 200 [
(B) 225 flbrg
(C) 245 foE
(D) 250 fiorE

96.. A3 5% W B~47 15% ST FNH G2
B-99 10% S C-49 20% Sigad s+ | If% C-«9
1,2,000 G 2, OIZE A, B 9% C-97 (15 5
PO

(A) 14,000 Si<l
(B) 16,000 Szt
(C) 18,000 Bl
(D) 1,24,000 B

97. kiR ol e @i 2
(A) M
B) N
G o
D) P

98. 437G fEfAoTa FET 9k RFaeTa wasiie
25 20 ; 21 | IR AT 94F FI0ST Mol TS 7
(A) 5%
(B) 55%
(C) 6%
D) 625%
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99, The Father of the Indian Constitution was 99, SRS ARHIFE Twe R R’ i
(A) Nehru (A) ez '
(B) M. N.Roy (B) 9. <. T
(C) B.R. Ambedkar - () R e
(D) C.R.Das
(D) 1. =a. Wit

100. The Saptaratha Temples at Mahabalipuram 100, THFAFER g R Fuffer ferem
were built by the

A q
(A) Cholas - (B) o :T -
(B) Chalukyas ®
(C) Pallavas - ' €y s

(D) Pandyas (D) #ihej3eq






